Research  Honorg Answer Key Mixture
I. iHtems [valve |guantity| +otal valve |
(24) coffee A 1650 X | 6.5% 6.5% + 9(40-x) = 40(1.5)
(10) coffee B Ho-X | 9(40-x) 6.5x +360 - 9x = 300
~ 25X +360 = 200
~2.5x = =60
X =24
5. item< | valve |quanty|  todal valve
(40) candy A 2 X 12X
(30) Canoly B 9 70--X i9 (70 _...)()
12x + 19 (70 —x) =15 (70_)
jZx + 1330 -19x = /050
-1Xx +1330 =(050
~Tx = =280
X = 40
3. 1Hems valve guanhty fotal valve
(12) coffee A |3.20| X 3.20X
coffee B 2.30 18 2.80 (:8) |

3.20% + 2.80 (18) =2.96 (18t
3 2y + S0.4 = 53.28+2.96X

.24 X + 50.4=53.2%
e Z‘IX :2._&8‘,

X =12



H‘ Hems | valve c‘y,md«"ry’ +o+al valve
2% alcohol

solukion | <02 5 .02(5)
66% alcohol |

soiotion | +66 | 1 66 (1)

X = concentration of new plutio

L02(5) + ,b6 (11) = x(lb)
o+ 72.26 = loXx

7.3b = lbX
b = X
X = 46%
5. - : '
items valve | guanhty ol valve
45% nickel 45 X 45 x
pure nickel g él 1(b)

HEX 4 1(6) = (x+b).T3
MHEX + b = 79X +4.68%
6 = 33X + 4,68

/.32= ,33%
X< 4



